Estimate Addition Caloculations worksheet

1. Which of these colcubations
ghee an answer of obout 5007
A4 + 278
103 + 415
278 « 131
4583 + 182

B Wil o] thess caltulations
give an areswer of about 15007

756 + T47
823+ 570
1225 + 241
925 + 403

2. Which of these calculaticns
give an answer of about G007

372 + I3
319 + XH
117 + 5493
121 + 317

T Which of these caloulations

1600 + 200
400 + 1900
1300 4+ 700
1500 + 1500

3 Which of these caloulations

712 + 235
§27 + 231
297 « 325
435 + 357

8. Wahich of these caleulatigns

give on answer of about 20007 lgree an answer of about 30007

1500 + 10075
2050 = Qi
1025 + 1750
750 + 2200

4. Which of these talculations

gwe an answer of about 3007 ke on answer of abour 10007

807 + 294
143 + 978
B2 + 1007
&5 + 597

3 Which of thete caloulatioss
give an ansaer of about 40007

2314 + 1219
1294 + 3213
3011 « 112
2410 + 1056

& Which of these calculaticns
give an answer of about 12007

214 + 253
445 + 756
978 + 312
223 + 596

10, Wekicks af thess ealoulations
gre an answer of obout S0002

2345 =+ 2675
1350 + 3450

2085 « 1800
2345 + 36D

11, Which of these colculations
give an arewer of about 25007

1243 4+ 217
1183 + 1335
261 + 2731
1705 + &7

12, Which of these caloulaions
give on answer of about F5007
2137 + 1124
2900 + 593
1004 + 2016

908 + 2268

13 Which of these cakiubations
jgive an onswer of chout 45007
2290 + 3265

4301 + 129
1355 + 3810

96 + 4267

14 Which of tese cokiubations
give an anveer of about F3007

4562 + 2120
2305 + 5280
1520 + 5043

3748 + 2330

15 Which of these coltulations
ghw on arewer of abowr WDO0CF

001 + 1056
1039 + 7836
4453 4 5531
FESE + &4




